Available online at http://scik.org

Adv. Inequal. Appl. 2015, 2015:7

ISSN: 2050-7461

OPERATOR INEQUALITIES ASSOCIATED WITH RELATIVE OPERATOR **ENTROPIES**

MOHAMMAD BAGHER GHAEMI¹, NAHID GHARAKHANLU¹, SHIGERU FURUICHI^{2,*}

¹School of Mathematics, Iran University of Science and Technology, Narmak, Tehran 16846-13114, Iran

²Department of Information Science, College of Humanities and Sciences, Nihon University, 3-25-40,

Sakurajyousui, Setagaya-ku, Tokyo, 156-8550, Japan

Copyright © 2015 Ghaemi, Gharakhanlu and Furuichi. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we introduce the notions of operator (α, β, γ) -mean, relative operator (α, β, γ) -entropy and Tsallis relative operator (α, β, γ) -entropy. We give upper and lower bounds of relative operator (α, β, γ) -entropy, relative operator $(0, \beta, \gamma)$ -entropy and Tsallis relative operator (α, β, γ) -entropy. Our results are refinements and generalizations of some existing inequalities due to Furuichi, Zou and Nikoufar.

Keywords: Tsallis relative operator (α, β, γ) -entropy; Relative operator (α, β, γ) -entropy; Operator (α, β, γ) mean; Operator inequality; Positive invertible operator.

2010 AMS Subject Classification: 81P45, 47A63, 15A39, 94A17.

1. Introduction

Let A and B be two invertible positive operators on a finite dimensional Hilbert space. Relative operator entropy is defined by (see [3])

$$S(A|B) = A^{\frac{1}{2}} (\log A^{-\frac{1}{2}} B A^{-\frac{1}{2}}) A^{\frac{1}{2}},$$

*Corresponding author

Received March 14, 2015

1

which is an extension of the operator entropy introduced in [13] and [16]. More generally, the generalized relative operator entropy

$$S_q(A|B) = A^{\frac{1}{2}} (A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^q (\log A^{-\frac{1}{2}} B A^{-\frac{1}{2}}) A^{\frac{1}{2}},$$

for positive operators A and B and $q \in \mathbb{R}$ was defined in [11]. We notice that when q = 0, we have $S_0(A|B) = S(A|B)$. Furuta [9] (see also [10]) proved the following inequality for a > 0

$$(1 - \log a)A - \frac{1}{a}AB^{-1}A \le S(A|B) \le (\log a - 1)A + \frac{1}{a}B,$$

as a generalization of the upper and lower bounds of

$$A - AB^{-1}A \leqslant S(A|B) \leqslant B - A$$

which was obtained in [4].

For positive operators A, B and $0 < \lambda \le 1$, Tsallis relative operator entropy is defined as follows (see [17])

$$T_{\lambda}(A|B) = \frac{A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^{\lambda}A^{\frac{1}{2}} - A}{\lambda} = \frac{A\sharp_{\lambda}B - A}{\lambda},$$

where $A\sharp_{\lambda}B = A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^{\lambda}A^{\frac{1}{2}}$ is the λ -geometric mean [12]. When $\lambda = \frac{1}{2}$, $A\sharp_{\lambda}B$ is denoted by $A\sharp B$ and called geometric mean. In particular $A\sharp_0B = A$, $A\sharp_1B = B$ and $A\sharp_{-1}B = AB^{-1}A$. Tsallis relative operator entropy can be rewritten as

$$T_{\lambda}(A|B) = A^{\frac{1}{2}} \ln_{\lambda} (A^{-\frac{1}{2}}BA^{-\frac{1}{2}})A^{\frac{1}{2}},$$

where one-parameter extended logarithmic function $\ln_{\lambda} t$ is defined by $\ln_{\lambda} t = \frac{t^{\lambda} - 1}{\lambda}$ for t > 0. $\ln_{\lambda} t$ uniformly converges to the usual logarithmic function $\log t$ when $\lambda \to 0$. So Tsallis relative operator entropy $T_{\lambda}(A|B)$ is a one-parameter extension of relative operator entropy S(A|B) in the sense that $\lim_{\lambda \to 0} T_{\lambda}(A|B) = S(A|B)$. For more information on the Tsallis relative operator entropy the reader is referred to [6], [7] and [17].

The relation between S(A|B), $T_{\lambda}(A|B)$ and $T_{-\lambda}(A|B)$ was considered in [5] and the following inequalities was proved

$$T_{-\lambda}(A|B) \leqslant S(A|B) \leqslant T_{\lambda}(A|B)$$
 (1.1)

$$A - AB^{-1}A \leqslant T_{\lambda}(A|B) \leqslant B - A,\tag{1.2}$$

and for a > 0

$$A\sharp_{\lambda}B - \frac{1}{a}A\sharp_{\lambda-1}B + (\ln_{\lambda}\frac{1}{a})A \leqslant T_{\lambda}(A|B) \leqslant \frac{1}{a}B - A - (\ln_{\lambda}\frac{1}{a})A\sharp_{\lambda}B. \tag{1.3}$$

In [15], operator (α, β) -geometric mean for real numbers α , β was introduced as a generalization of the operator α -geometric mean $A \sharp_{\alpha} B$ as follows

$$A\sharp_{(\alpha,\beta)}B = A^{\frac{\beta}{2}} \left(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}} \right)^{\alpha} A^{\frac{\beta}{2}}.$$

In particular we have

$$A\sharp_{(\alpha,1)}B = A\sharp_{\alpha}B, \quad A\sharp_{(-1,\beta)}B = A^{\beta}B^{-1}A^{\beta}, \quad A\sharp_{(0,\beta)}B = A^{\beta}, \quad A\sharp_{(1,\beta)}B = B.$$

The notion of relative operator (α, β) -entropy and Tsallis relative operator (α, β) -entropy was defined in [14] as a parameter extensions of relative operator entropy and Tsallis relative operator entropy. For invertible positive operators A, B and real numbers α , β , relative operator (α, β) -entropy is

$$S_{\alpha,\beta}(A|B) = A^{\frac{\beta}{2}} \left(A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}} \right)^{\alpha} \left(\log A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}} \right) A^{\frac{\beta}{2}},$$

and Tsallis relative operator (α, β) -entropy for $\alpha \neq 0$ is

$$T_{\alpha,\beta}(A|B) = A^{\frac{\beta}{2}} \ln_{\alpha} \left(A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}} \right) A^{\frac{\beta}{2}}.$$

In particular $S_{q,1}(A|B) = S_q(A|B)$, $S_{0,1}(A|B) = S(A|B)$, $T_{\lambda,1}(A|B) = T_{\lambda}(A|B)$ and $\lim_{\alpha \to 0} T_{\alpha,\beta}(A|B) = S_{0,\beta}(A|B)$.

According to the definitions of $T_{\lambda,\beta}(A|B)$ and $S_{0,\beta}(A|B)$, the following inequalities were proved in [14] for $\lambda \in (0,1]$ and $\beta > 0$

$$T_{-\lambda,\beta}(A|B) \leqslant S_{0,\beta}(A|B) \leqslant T_{\lambda,\beta}(A|B),$$
 (1.4)

$$A^{\beta} - A^{\beta} B^{-1} A^{\beta} \leqslant T_{\lambda,\beta}(A|B) \leqslant B - A^{\beta}, \tag{1.5}$$

and for a > 0

$$A\sharp_{(\lambda,\beta)}B - \frac{1}{a}A\sharp_{(\lambda-1,\beta)}B + (\ln_{\lambda}\frac{1}{a})A^{\beta} \leqslant T_{\lambda,\beta}(A|B) \leqslant \frac{1}{a}B - A^{\beta} - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta)}B. \tag{1.6}$$

We notice that these three inequalities are a generalization and refinement of the inequalities (1.1), (1.2) and (1.3).

In this paper, we introduce three parameter extensions of operator mean, relative operator entropy and Tsallis relative operator entropy and present some new operator inequalities. Our results will recover and generalize some existing inequalities in [8], [14] and [18]. A generalization of inequalities (1.4) and (1.6) is obtained in Theorem 2.7 and Theorem 2.9. In Theorem 2.11 we will give a refinement of Theorem 2.7. Some theorems of [18] will be extracted according to Theorem 2.11. New upper and lower bounds of three parameter Tsallis relative operator entropy will be introduced in Theorem 2.16. We will obtained tight bounds of Theorem 2.9 when $a \ge 1$. The main result of [8] and [18] will be concluded according to Theorem 2.16. Theorem 2.20 will give precise upper and lower bounds of Theorem 2.7 which recover some main operator inequalities of [8]. Indeed, we will extend corollary 2.5, propostion 2.3 and propostion 2.4 in [8] by Theorem 2.20. We will get a generalization of the two last results of [8] in Theorem 2.23 and Theorem 2.25. At the end, in Theorem 2.27 we obtain upper and lower bounds of three parameter relative operator entropy.

2. Main Results

We introduce three parameter extension of operator mean, relative operator entropy and T-sallis relative operator entropy in the following:

Definition 2.1. Operator (α, β, γ) -mean

$$A\sharp_{(\alpha,\beta,\gamma)}B \equiv A^{\frac{\gamma}{2}} \left(A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}} \right)^{\alpha} A^{\frac{\gamma}{2}}$$

for positive invertible operators A,B and real numbers α,β,γ . We would remark that $A\sharp_{(1,\beta,\gamma)}B\equiv A^{\frac{\gamma}{2}}\left(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}}\right)A^{\frac{\gamma}{2}}, A\sharp_{(-1,\beta,\gamma)}B\equiv A^{\frac{\gamma}{2}}\left(A^{\frac{\beta}{2}}B^{-1}A^{\frac{\beta}{2}}\right)A^{\frac{\gamma}{2}}, A\sharp_{(\alpha,\beta,\beta)}B\equiv A\sharp_{(\alpha,\beta)}B, A\sharp_{(0,\beta,\gamma)}B\equiv A^{\gamma}$ and $A\sharp_{(\alpha,1,1)}B\equiv A\sharp_{\alpha}B$.

Definition 2.2. Relative operator (α, β, γ) -entropy

$$S_{\alpha,\beta,\gamma}(A|B) \equiv A^{\frac{\gamma}{2}} \left(A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}} \right)^{\alpha} \left(\log A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}} \right) A^{\frac{\gamma}{2}}$$

for positive invertible operators A,B and real numbers α,β,γ . In particular we have $S_{0,\beta,\gamma}(A|B) \equiv A^{\frac{\gamma}{2}} \left(\log A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}} \right) A^{\frac{\gamma}{2}}, S_{\alpha,\beta,\beta}(A|B) \equiv S_{\alpha,\beta}(A|B)$ and $S_{0,1,1}(A|B) \equiv S(A|B)$.

Definition 2.3. Tsallis relative operator (α, β, γ) -entropy

$$T_{\alpha,\beta,\gamma}(A|B) \equiv A^{\frac{\gamma}{2}} \ln_{\alpha} \left(A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}} \right) A^{\frac{\gamma}{2}}$$

for positive invertible operators A,B and real numbers $\alpha \neq 0,\beta,\gamma$. We note that $T_{1,\beta,\gamma}(A|B) \equiv A\sharp_{(1,\beta,\gamma)}B - A^{\gamma}$, $T_{-1,\beta,\gamma}(A|B) \equiv A^{\gamma} - A\sharp_{(-1,\beta,\gamma)}B$, $T_{\alpha,\beta,\beta}(A|B) \equiv T_{\alpha,\beta}(A|B)$ and $T_{\alpha,1,1}(A|B) \equiv T_{\alpha}(A|B)$.

Definition 2.4. Let f, g, h be real valued continuous functions on the closed interval I such that g, h > 0. For invertible positive operators A and B, we define

$$Q_{f,g,h}(B|A) = h(A)^{\frac{1}{2}} f\left(g(A)^{-\frac{1}{2}} B g(A)^{-\frac{1}{2}}\right) h(A)^{\frac{1}{2}}.$$

We would remark that if g = h, $Q_{f,g,h}(B|A)$ is equal to generalized perspective function $P_{f \triangle h}(B|A)$ introduced in [1](see also [2]).

Theorem 2.5. Let r,q,k,g and h be real valued continuous functions on the closed interval I such that g,h > 0. If for $t \in I$ we have $r(t) \leq q(t) \leq k(t)$, then for invertible positive operators A and B

$$Q_{r,g,h}(B|A) \leqslant Q_{q,g,h}(B|A) \leqslant Q_{k,g,h}(B|A)$$

Proof. According to the assumption, we have

$$r\left(g(A)^{-\frac{1}{2}}Bg(A)^{-\frac{1}{2}}\right) \leqslant q\left(g(A)^{-\frac{1}{2}}Bg(A)^{-\frac{1}{2}}\right) \leqslant k\left(g(A)^{-\frac{1}{2}}Bg(A)^{-\frac{1}{2}}\right),$$

by multiplying $h(A)^{\frac{1}{2}}$ from both sides, the desired inequality is obtained.

Corollary 2.6. Let $f_1, f_2, ..., f_n, g$ and h be real valued continuous functions on the closed interval I such that g, h > 0. If for $t \in I$ we have $f_1(t) \leqslant f_2(t) \leqslant f_3(t) \leqslant ... \leqslant f_n(t)$, then for invertible positive operators A and B

$$Q_{f_1,g,h}(B|A)\leqslant Q_{f_2,g,h}(B|A)\leqslant Q_{f_3,g,h}(B|A)\leqslant \ldots \leqslant Q_{f_n,g,h}(B|A).$$

Theorem 2.7. Let $\beta, \gamma > 0$ and $\lambda \in (0,1]$. For any invertible positive operators A and B, we have

$$T_{-\lambda,\beta,\gamma}(A|B) \leqslant S_{0,\beta,\gamma}(A|B) \leqslant T_{\lambda,\beta,\gamma}(A|B).$$

Proof. Since for t > 0 we have

$$\ln_{-\lambda} t \leq \log t \leq \ln_{\lambda} t,$$

by putting $r(t) = \ln_{-\lambda} t$, $q(t) = \log t$, $k(t) = \ln_{\lambda} t$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we obtain the result.

Remark 2.8. According to Theorem 2.7, we get the inequality (1.4) by replacing γ with β .

Theorem 2.9. Let $a, \beta, \gamma > 0$ and $\lambda \in (0,1]$. For any invertible positive operators A and B, we have

$$A\sharp_{(\lambda,\beta,\gamma)}B - \frac{1}{a}A\sharp_{(\lambda-1,\beta,\gamma)}B + (\ln_{\lambda}\frac{1}{a})A^{\gamma} \leqslant T_{\lambda,\beta,\gamma}(A|B) \leqslant \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - A^{\gamma} - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B.$$

Proof. The following inequality holds for a, t > 0 and $\lambda \in (0, 1]$ (see [5])

$$t^{\lambda} - (\frac{1}{a})t^{\lambda - 1} + (\ln_{\lambda} \frac{1}{a}) \leqslant \ln_{\lambda} t \leqslant (\frac{1}{a})t - (\ln_{\lambda} \frac{1}{a})t^{\lambda} - 1.$$

Applying Theorem 2.5 for $r(t) = t^{\lambda} - (\frac{1}{a})t^{\lambda-1} + (\ln_{\lambda} \frac{1}{a}), q(t) = \ln_{\lambda} t, k(t) = (\frac{1}{a})t - (\ln_{\lambda} \frac{1}{a})t^{\lambda} - 1,$ $g(t) = t^{\beta}$ and $h(t) = t^{\gamma}$, give the desired result.

Remark 2.10. We notice that Theorem 2.9 recover the inequalities (1.6), if we replace γ with β .

Theorem 2.11. Let $a, \beta, \gamma > 0$ and $\lambda \in (0,1]$. For any invertible positive operators A and B, we have

$$(1 - \log a)A^{\gamma} - \frac{1}{a}A\sharp_{(-1,\beta,\gamma)}B \leqslant a^{-\lambda}T_{-\lambda,\beta,\gamma}(A|B) - \left(\log a + \ln_{\lambda}\frac{1}{a}\right)A^{\gamma}$$

$$\leqslant S_{0,\beta,\gamma}(A|B)$$

$$\leqslant (\log a)A^{\gamma} + T_{\lambda,\beta,\gamma}(A|B) + (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B$$

$$\leqslant (\log a - 1)A^{\gamma} + \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B.$$

$$(2.1)$$

Proof. For t > 0 we have the following inequality

$$\ln_{-\lambda}(at) \leq \log(at) \leq \ln_{\lambda}(at),$$

which is equivalent to the following inequality

$$-\log a + \frac{(at)^{-\lambda} - 1}{-\lambda} \leqslant \log(t) \leqslant \frac{(at)^{\lambda} - 1}{\lambda} - \log a,$$

by easy calculation we get

$$-\log a - \ln_{\lambda} \frac{1}{a} + a^{-\lambda} \ln_{-\lambda} t \leqslant \log t \leqslant \ln_{\lambda} t + t^{\lambda} \ln_{\lambda} a - \log a,$$

by putting $r(t) = -\log a - \ln_{\lambda} \frac{1}{a} + a^{-\lambda} \ln_{-\lambda} t$, $q(t) = \log t$, $k(t) = \ln_{\lambda} t + t^{\lambda} \ln_{\lambda} a - \log a$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we obtain the following inequality

$$a^{-\lambda} T_{-\lambda,\beta,\gamma}(A|B) - \left(\log a + \ln_{\lambda} \frac{1}{a}\right) A^{\gamma}$$

$$\leq S_{0,\beta,\gamma}(A|B)$$

$$\leq -(\log a) A^{\gamma} + T_{\lambda,\beta,\gamma}(A|B) + (\ln_{\lambda} a) A \sharp_{(\lambda,\beta,\gamma)} B,$$

$$(2.2)$$

if we replace a with $\frac{1}{a}$ in the right side of the previous inequality, we obtain

$$a^{-\lambda}T_{-\lambda,\beta,\gamma}(A|B) - \left(\log a + \ln_{\lambda} \frac{1}{a}\right)A^{\gamma} \leqslant S_{0,\beta,\gamma}(A|B)$$

$$\leqslant (\log a)A^{\gamma} + T_{\lambda,\beta,\gamma}(A|B) + (\ln_{\lambda} \frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B,$$
(2.3)

which is the second and third part of (2.1).

According to Theorem 2.9, we have $T_{\lambda,\beta,\gamma}(A|B) \leqslant \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - A^{\gamma} - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B$, so

$$(\log a)A^{\gamma} + T_{\lambda,\beta,\gamma}(A|B) + (\ln_{\lambda} \frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B \leqslant (\log a - 1)A^{\gamma} + \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B, \tag{2.4}$$

which is the last inequality of (2.1).

Let $f(\lambda) = \lambda(t-1) - (t^{\lambda} - 1)$ defined for t > 0 and $\lambda \in (0,1]$. Since $\frac{d^2}{d\lambda} f(\lambda) < 0$ and f(0) = f(1) = 0, then $f(\lambda) \geqslant 0$. It means that

$$\frac{t^{\lambda} - 1}{\lambda} \leqslant t - 1. \tag{2.5}$$

So for $\frac{1}{at} > 0$, we have the following inequality

$$\frac{\left(\frac{1}{at}\right)^{\lambda} - 1}{\lambda} \leqslant \left(\frac{1}{at}\right) - 1,$$

which is equivalent to

$$\ln_{\lambda} \frac{1}{a} + a^{-\lambda} \ln_{\lambda} \left(\frac{1}{t}\right) \leqslant \left(\frac{1}{at}\right) - 1,$$

if we multiple both sides by (-1), we obtain

$$a^{-\lambda} \ln_{-\lambda} t \geqslant 1 - \frac{1}{at} + \ln_{\lambda} \frac{1}{a}.$$

By putting $r(t) = 1 - \frac{1}{at} + \ln_{\lambda} \frac{1}{a}$, $q(t) = a^{-\lambda} \ln_{-\lambda} t$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we get the following inequality

$$a^{-\lambda}T_{-\lambda,\beta,\gamma}(A|B) \geqslant (1 + \ln_{\lambda} \frac{1}{a})A^{\gamma} - \frac{1}{a}A\sharp_{(-1,\beta,\gamma)}B. \tag{2.6}$$

According to (2.6), we have the following inequality

$$a^{-\lambda}T_{-\lambda,\beta,\gamma}(A|B) - \left(\log a + \ln_{\lambda} \frac{1}{a}\right)A^{\gamma} \geqslant (1 - \log a)A^{\gamma} - \frac{1}{a}A\sharp_{(-1,\beta,\gamma)}B,\tag{2.7}$$

which is the first inequality of (2.1). Now our proof is completed by inequalities (2.3), (2.4) and (2.7).

The following corollaries are an immediate conclusions of Theorem 2.11:

Corollary 2.12. ([18], Theorem 2.3) *If* a > 0 *and* $\lambda \in (0,1]$, *then for any invertible positive operators A and B*

$$(1 - \log a)A - \frac{1}{a}AB^{-1}A \leqslant a^{-\lambda}T_{-\lambda}(A|B) - \left(\log a + (\ln_{\lambda}\frac{1}{a})\right)A$$

$$\leqslant S(A|B)$$

$$\leqslant (\log a)A + T_{\lambda}(A|B) + (\ln_{\lambda}\frac{1}{a})A\sharp_{\lambda}B$$

$$\leqslant (\log a - 1)A + \frac{1}{a}B.$$

Proof. We notice that Theorem 2.11 generalize the above inequalities. The result now follows from Theorem 2.11 by putting $\gamma = \beta = 1$.

Corollary 2.13. ([18], Theorem 2.2) Let a > 0 and $\lambda \in (0,1]$. For any invertible positive operators A and B, we have

$$-\left(\log a + (\ln_{\lambda} \frac{1}{a})\right)A + a^{-\lambda}T_{-\lambda}(A|B) \leqslant S(A|B) \leqslant T_{\lambda}(A|B) + (\ln_{\lambda} a)A\sharp_{\lambda}B - (\log a)A,$$

Proof. By putting
$$\gamma = \beta = 1$$
 in (2.2), we obtain the result.

Corollary 2.14. ([18], Theorem 2.1) Let a > 0 and $\lambda \in (0,1]$. For any invertible positive operators A and B, we have

$$a^{-\lambda}T_{-\lambda}(A|B) \geqslant A - \frac{1}{a}AB^{-1}A + (\ln_{\lambda}\frac{1}{a})A.$$

Proof. The desired inequality is concluded from inequality (2.6) as $\gamma = \beta = 1$.

Remark 2.15. Theorem 2.11 recover the inequalities of Theorem 2.7, if we put a = 1.

Theorem 2.16. Let $a, \beta, \gamma > 0$, $\lambda \in (0,1]$ and $t \in [0,1]$. For any invertible positive operators A and B, the following inequalities (i) and (ii) hold.

(i) If $0 < a \le 1$, then

$$A\sharp_{(\lambda,\beta,\gamma)}B - \frac{1}{a}A\sharp_{(\lambda-1,\beta,\gamma)}B + (\ln_{\lambda}\frac{1}{a})A^{\gamma} \leqslant l_{3}A\sharp_{(\lambda,\beta,\gamma)}B - l_{1}A\sharp_{(\lambda-1,\beta,\gamma)}B - l_{2}A^{\gamma}$$

$$\leqslant T_{\lambda,\beta,\gamma}(A|B)$$

$$\leqslant l_{1}A\sharp_{(1,\beta,\gamma)}B + l_{2}A\sharp_{(\lambda,\beta,\gamma)}B - l_{3}A^{\gamma}$$

$$\leqslant \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B - A^{\gamma}.$$

$$(2.8)$$

(ii) If $a \ge 1$, then

$$l_{3}A\sharp_{(\lambda,\beta,\gamma)}B - l_{1}A\sharp_{(\lambda-1,\beta,\gamma)}B - l_{2}A^{\gamma} \leqslant A\sharp_{(\lambda,\beta,\gamma)}B - \frac{1}{a}A\sharp_{(\lambda-1,\beta,\gamma)}B + (\ln_{\lambda}\frac{1}{a})A^{\gamma}$$

$$\leqslant T_{\lambda,\beta,\gamma}(A|B)$$

$$\leqslant \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B - A^{\gamma}$$

$$\leqslant l_{1}A\sharp_{(1,\beta,\gamma)}B + l_{2}A\sharp_{(\lambda,\beta,\gamma)}B - l_{3}A^{\gamma},$$

$$(2.9)$$

where

$$l_1 = \frac{\lambda a^{\lambda - 1}}{\lambda \left\lceil ta^{\lambda} + (1 - t) \right\rceil}, \quad l_2 = \frac{t(a^{\lambda} - 1)}{\lambda \left\lceil ta^{\lambda} + (1 - t) \right\rceil}, \quad l_3 = \frac{\lambda a^{\lambda} + (t - 1)(a^{\lambda} - 1)}{\lambda \left\lceil ta^{\lambda} + (1 - t) \right\rceil}.$$

Proof. (i) The inequalities which is obtained in ([18], Theorem 2.4), can be rewritten as follows for t > 0

$$l_3 t^{\lambda} - l_1 t^{\lambda - 1} - l_2 \leq \ln_{\lambda} t \leq l_1 t + l_2 t^{\lambda} - l_3$$
.

by putting $r(t) = l_3 t^{\lambda} - l_1 t^{\lambda-1} - l_2$, $q(t) = \ln_{\lambda} t$, $k(t) = l_1 t + l_2 t^{\lambda} - l_3$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we obtain the following inequality

$$l_{3}A\sharp_{(\lambda,\beta,\gamma)}B - l_{1}A\sharp_{(\lambda-1,\beta,\gamma)}B - l_{2}A^{\gamma} \leqslant T_{\lambda,\beta,\gamma}(A|B)$$

$$\leqslant l_{1}A\sharp_{(1,\beta,\gamma)}B + l_{2}A\sharp_{(\lambda,\beta,\gamma)}B - l_{3}A^{\gamma},$$

$$(2.10)$$

which is the second and third part of inequalities (2.8).

According to the proof of Furuichi's main theorem [8], we have the following inequalities for t > 0 and $0 < a \le 1$

$$t^{\lambda} - \frac{1}{a}t^{\lambda - 1} + (\ln_{\lambda} \frac{1}{a}) \leqslant l_3 t^{\lambda} - l_1 t^{\lambda - 1} - l_2$$
$$l_1 t + l_2 t^{\lambda} - l_3 \leqslant \frac{1}{a}t - (\ln_{\lambda} \frac{1}{a})t^{\lambda} - 1$$

We put $r_1(t) = t^{\lambda} - \frac{1}{a}t^{\lambda-1} + (\ln_{\lambda}\frac{1}{a})$, $q_1(t) = l_3t^{\lambda} - l_1t^{\lambda-1} - l_2$, $r_2(t) = l_1t + l_2t^{\lambda} - l_3$ and $q_2(t) = \frac{1}{a}t - (\ln_{\lambda}\frac{1}{a})t^{\lambda} - 1$. Since $r_1(t) \leqslant q_1(t)$ and $r_2(t) \leqslant q_2(t)$, by putting $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we get the following inequalities

$$A\sharp_{(\lambda,\beta,\gamma)}B - \frac{1}{a}A\sharp_{(\lambda-1,\beta,\gamma)}B + (\ln_{\lambda}\frac{1}{a})A^{\gamma} \leqslant l_{3}A\sharp_{(\lambda,\beta,\gamma)}B - l_{1}A\sharp_{(\lambda-1,\beta,\gamma)}B - l_{2}A^{\gamma}, \qquad (2.11)$$

$$l_1 A \sharp_{(1,\beta,\gamma)} B + l_2 A \sharp_{(\lambda,\beta,\gamma)} B - l_3 A^{\gamma} \leqslant \frac{1}{a} A \sharp_{(1,\beta,\gamma)} B - (\ln_{\lambda} \frac{1}{a}) A \sharp_{(\lambda,\beta,\gamma)} B - A^{\gamma}. \tag{2.12}$$

According to the inequalities (2.10), (2.11) and (2.12) the proof of (i) is completed.

(ii) According to the proof of Furuichi's main theorem [8], the following inequalities are obtained for $a \ge 1$ and t > 0

$$t^{\lambda} - \frac{1}{a}t^{\lambda - 1} + (\ln_{\lambda}\frac{1}{a}) \geqslant l_3t^{\lambda} - l_1t^{\lambda - 1} - l_2,$$
$$l_1t + l_2t^{\lambda} - l_3 \geqslant \frac{1}{a}t - (\ln_{\lambda}\frac{1}{a})t^{\lambda} - 1.$$

We define $r_1(t) = l_3 t^{\lambda} - l_1 t^{\lambda - 1} - l_2$, $q_1(t) = t^{\lambda} - \frac{1}{a} t^{\lambda - 1} + (\ln_{\lambda} \frac{1}{a})$, $r_2(t) = \frac{1}{a} t - (\ln_{\lambda} \frac{1}{a}) t^{\lambda} - 1$ and $q_2(t) = l_1 t + l_2 t^{\lambda} - l_3$. Since $r_1(t) \leqslant q_1(t)$ and $r_2(t) \leqslant q_2(t)$, by putting $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we get the following inequalities

$$l_3A\sharp_{(\lambda,\beta,\gamma)}B - l_1A\sharp_{(\lambda-1,\beta,\gamma)}B - l_2A^{\gamma} \leqslant A\sharp_{(\lambda,\beta,\gamma)}B - \frac{1}{a}A\sharp_{(\lambda-1,\beta,\gamma)}B + (\ln_{\lambda}\frac{1}{a})A^{\gamma}, \tag{2.13}$$

$$\frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B - A^{\gamma} \leqslant l_{1}A\sharp_{(1,\beta,\gamma)}B + l_{2}A\sharp_{(\lambda,\beta,\gamma)}B - l_{3}A^{\gamma}. \tag{2.14}$$

Now inequalities (2.9) of (ii) are obtained by Theorem 2.9, inequalities (2.13) and (2.14). \Box

Corollary 2.17. ([8], Theorem 2.1) Let a > 0 and $\lambda \in (0,1]$. For any invertible positive operators A and B, the following inequalities (i) and (ii) hold.

(i) If $0 < a \le 1$, then

$$A\sharp_{\lambda}B - \frac{1}{a}A\sharp_{\lambda-1}B + (\ln_{\lambda}\frac{1}{a})A \leqslant l_{3}A\sharp_{\lambda}B - l_{1}A\sharp_{\lambda-1}B - l_{2}A$$
$$\leqslant T_{\lambda}(A|B)$$
$$\leqslant l_{1}B + l_{2}A\sharp_{\lambda}B - l_{3}A$$
$$\leqslant \frac{1}{a}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{\lambda}B - A.$$

(ii) If $a \ge 1$, then

$$l_{3}A\sharp_{\lambda}B - l_{1}A\sharp_{\lambda-1}B - l_{2}A \leqslant A\sharp_{\lambda}B - \frac{1}{a}A\sharp_{\lambda-1}B + (\ln_{\lambda}\frac{1}{a})A$$

$$\leqslant T_{\lambda}(A|B)$$

$$\leqslant \frac{1}{a}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{\lambda}B - A$$

$$\leqslant l_{1}B + l_{2}A\sharp_{\lambda}B - l_{3}A,$$

where

$$l_1 = \frac{\lambda a^{\lambda - 1}}{\lambda \left\lceil ta^{\lambda} + (1 - t) \right\rceil}, \quad l_2 = \frac{t(a^{\lambda} - 1)}{\lambda \left\lceil ta^{\lambda} + (1 - t) \right\rceil}, \quad l_3 = \frac{\lambda a^{\lambda} + (t - 1)(a^{\lambda} - 1)}{\lambda \left\lceil ta^{\lambda} + (1 - t) \right\rceil}.$$

Proof. It follows from Theorem 2.16 by putting $\gamma = \beta = 1$.

Corollary 2.18. ([18], Theorem 2.4) Let a > 0 and $\lambda \in (0,1]$ and $t \in [0,1]$. For any invertible positive operators A and B, we have

$$l_3A\sharp_{\lambda}B - l_1A\sharp_{\lambda-1}B - l_2A \leqslant T_{\lambda}(A|B) \leqslant l_1B + l_2A\sharp_{\lambda}B - l_3A$$

where

$$l_1 = \frac{\lambda a^{\lambda - 1}}{\lambda \left[ta^{\lambda} + (1 - t) \right]}, \quad l_2 = \frac{t(a^{\lambda} - 1)}{\lambda \left[ta^{\lambda} + (1 - t) \right]}, \quad l_3 = \frac{\lambda a^{\lambda} + (t - 1)(a^{\lambda} - 1)}{\lambda \left[ta^{\lambda} + (1 - t) \right]}.$$

Proof. We obtain the result by using inequalities (2.10) with $\gamma = \beta = 1$.

Remark 2.19.

- (i) Inequalities (2.8) give precise bounds of inequalities (2.10) when $0 < a \le 1$.
- (ii) The inequalities (2.9) are a refinement of Theorem 2.9. Indeed, the inequalities (2.9) shows that we can obtain tight bounds of Theorem 2.9 when $a \ge 1$.

Theorem 2.20. Let $a, \beta, \gamma > 0$ and $\lambda \in (0,1]$. For any invertible positive operators A and B we have

(i) If $0 < a \le 1$, then

$$A^{\gamma} - (\frac{1}{a})A \sharp_{(-1,\beta,\gamma)} B + (\ln_{\lambda} \frac{1}{a})A \sharp_{(-\lambda,\beta,\gamma)} B$$

$$\leq (a^{\lambda} - \ln_{\lambda} a)A^{\gamma} - a^{\lambda - 1}A \sharp_{(-1,\beta,\gamma)} B$$

$$\leq T_{-\lambda,\beta,\gamma}(A|B) \leq S_{0,\beta,\gamma}(A|B) \leq T_{\lambda,\beta,\gamma}(A|B)$$

$$\leq (\ln_{\lambda} a - a^{\lambda})A^{\gamma} + a^{\lambda - 1}A \sharp_{(1,\beta,\gamma)} B$$

$$\leq \frac{1}{a}A \sharp_{(1,\beta,\gamma)} B - A^{\gamma} - (\ln_{\lambda} \frac{1}{a})A \sharp_{(\lambda,\beta,\gamma)} B.$$

$$(2.15)$$

(ii) If $a \ge 1$, then

$$(a^{\lambda} - \ln_{\lambda} a)A^{\gamma} - a^{\lambda - 1}A\sharp_{(-1,\beta,\gamma)}B$$

$$\leq A^{\gamma} - (\frac{1}{a})A\sharp_{(-1,\beta,\gamma)}B + (\ln_{\lambda} \frac{1}{a})A\sharp_{(-\lambda,\beta,\gamma)}B$$

$$\leq T_{-\lambda,\beta,\gamma}(A|B) \leq S_{0,\beta,\gamma}(A|B) \leq T_{\lambda,\beta,\gamma}(A|B)$$

$$\leq \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - A^{\gamma} - (\ln_{\lambda} \frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B$$

$$\leq (\ln_{\lambda} a - a^{\lambda})A^{\gamma} + a^{\lambda - 1}A\sharp_{(1,\beta,\gamma)}B.$$

$$(2.16)$$

Proof. (i) According to (2.5), the following inequality holds for t, a > 0

$$\frac{\left(\frac{t}{a}\right)^{\lambda} - 1}{\lambda} \leqslant \frac{t}{a} - 1,$$

which is equivalent to

$$\ln_{\lambda} t \leq (\ln_{\lambda} a - a^{\lambda}) + a^{\lambda - 1} t.$$

by putting $r(t) = \ln_{\lambda} t$, $q(t) = (\ln_{\lambda} a - a^{\lambda}) + a^{\lambda - 1}t$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we get the following inequality

$$T_{\lambda,\beta,\gamma}(A|B) \leqslant (\ln_{\lambda} a - a^{\lambda})A^{\gamma} + a^{\lambda - 1}A\sharp_{(1,\beta,\gamma)}B. \tag{2.17}$$

According to Theorem 2.7, inequalities (2.6) and (2.17) we get

$$(1 + \ln_{\lambda} \frac{1}{a}) a^{\lambda} A^{\gamma} - a^{\lambda - 1} A \sharp_{(-1, \beta, \gamma)} B \leqslant T_{-\lambda, \beta, \gamma} (A | B)$$

$$\leqslant S_{0, \beta, \gamma} (A | B)$$

$$\leqslant T_{\lambda, \beta, \gamma} (A | B) \leqslant (\ln_{\lambda} a - a^{\lambda}) A^{\gamma} + a^{\lambda - 1} A \sharp_{(1, \beta, \gamma)} B.$$

$$(2.18)$$

Now it remains to prove the first and last inequalities of (2.15). For $0 < a \le 1$, the following inequality holds by Theorem 2.16

$$l_1A\sharp_{(1,\beta,\gamma)}B + l_2A\sharp_{(\lambda,\beta,\gamma)}B - l_3A^{\gamma} \leqslant \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B - A^{\gamma}.$$

If we put t = 0, we have $l_1 = a^{\lambda - 1}$, $l_2 = 0$ and $l_3 = a^{\lambda} - \ln_{\lambda} a$. So

$$a^{\lambda-1}A\sharp_{(1,\beta,\gamma)}B - (a^{\lambda} - \ln_{\lambda} a)A^{\gamma} \leqslant \frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - (\ln_{\lambda} \frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B - A^{\gamma}, \tag{2.19}$$

which is the last inequality of (2.15). The inequality (2.19) is equivalent to

$$a^{\lambda-1}t - (a^{\lambda} - \ln_{\lambda} a) \leqslant \frac{1}{a}t - (\ln_{\lambda} \frac{1}{a})t^{\lambda} - 1, \tag{2.20}$$

for t > 0. Replacing t with $\frac{1}{t}$ in (2.20) and then multiplying both sides by (-1), we get

$$-a^{\lambda-1}(\frac{1}{t})+(a^{\lambda}-\ln_{\lambda}a)\geqslant 1-(\frac{1}{a})(\frac{1}{t})+(\ln_{\lambda}\frac{1}{a})t^{-\lambda}.$$

by putting $r(t) = 1 - (\frac{1}{a})(\frac{1}{t}) + (\ln_{\lambda} \frac{1}{a})t^{-\lambda}$, $q(t) = -a^{\lambda - 1}(\frac{1}{t}) + (a^{\lambda} - \ln_{\lambda} a)$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we obtain the following inequality

$$-a^{\lambda-1}A\sharp_{(-1,\beta,\gamma)}B + (a^{\lambda} - \ln_{\lambda}a)A^{\gamma} \geqslant A^{\gamma} - (\frac{1}{a})A\sharp_{(-1,\beta,\gamma)}B + (\ln_{\lambda}\frac{1}{a})A\sharp_{(-\lambda,\beta,\gamma)}B. \tag{2.21}$$

So according to (2.18), (2.19) and (2.21), the proof of (i) is completed.

(ii) For t > 0, the following inequality [5] holds for a > 0

$$\ln_{\lambda} \frac{1}{t} \leqslant \frac{1}{a} \left(\frac{1}{t} \right) - \left(\ln_{\lambda} \frac{1}{a} \right) t^{-\lambda} - 1,$$

which can be rewritten as follows

$$\ln_{-\lambda} t \geqslant 1 - \frac{1}{a} \left(\frac{1}{t} \right) + \left(\ln_{\lambda} \frac{1}{a} \right) t^{-\lambda}.$$

by putting $r(t) = 1 - \frac{1}{a}(\frac{1}{t}) + (\ln_{\lambda} \frac{1}{a})t^{-\lambda}$, $q(t) = \ln_{-\lambda} t$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we get the following inequality

$$T_{-\lambda,\beta}(A|B,\gamma) \geqslant A^{\gamma} - (\frac{1}{a})A\sharp_{(-1,\beta,\gamma)}B + (\ln_{\lambda}\frac{1}{a})A\sharp_{(-\lambda,\beta,\gamma)}B. \tag{2.22}$$

So according to Theorem 2.7, Theorem 2.9 and inequality (2.22) we deduce

$$A^{\gamma} - (\frac{1}{a})A \sharp_{(-1,\beta,\gamma)} B + (\ln_{\lambda} \frac{1}{a})A \sharp_{(-\lambda,\beta,\gamma)} B$$

$$\leqslant T_{-\lambda,\beta,\gamma}(A|B)$$

$$\leqslant S_{0,\beta,\gamma}(A|B)$$

$$\leqslant T_{\lambda,\beta,\gamma}(A|B) \leqslant \frac{1}{a}A \sharp_{(1,\beta,\gamma)} B - A^{\gamma} - (\ln_{\lambda} \frac{1}{a})A \sharp_{(\lambda,\beta,\gamma)} B.$$

$$(2.23)$$

To complete the proof, we must obtain the first and last inequalities of (2.16). For $a \ge 1$, according to Theorem 2.16 we have

$$\frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B - A^{\gamma} \leqslant l_{1}A\sharp_{(1,\beta,\gamma)}B + l_{2}A\sharp_{(\lambda,\beta,\gamma)}B - l_{3}A^{\gamma},$$

since for t = 0 we have $l_1 = a^{\lambda - 1}$, $l_2 = 0$ and $l_3 = a^{\lambda} - \ln_{\lambda} a$, then we deduce the following inequality

$$\frac{1}{a}A\sharp_{(1,\beta,\gamma)}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{(\lambda,\beta,\gamma)}B - A^{\gamma} \leqslant a^{\lambda-1}A\sharp_{(1,\beta,\gamma)}B - (a^{\lambda} - \ln_{\lambda}a)A^{\gamma}, \tag{2.24}$$

which is equivalent to the following scalar inequality

$$\frac{1}{a}t - (\ln_{\lambda} \frac{1}{a})t^{\lambda} - 1 \leqslant a^{\lambda - 1}t - (a^{\lambda} - \ln_{\lambda} a),$$

for t > 0. Now by replacing t with $\frac{1}{t}$ and multiplying both sides by (-1), we get

$$1 + (\ln_{\lambda} \frac{1}{a})t^{-\lambda} - \frac{1}{a}(\frac{1}{t}) \geqslant -a^{\lambda - 1}(\frac{1}{t}) + (a^{\lambda} - \ln_{\lambda} a).$$

by putting $r(t) = -a^{\lambda-1}(\frac{1}{t}) + (a^{\lambda} - \ln_{\lambda} a)$, $q(t) = 1 + (\ln_{\lambda} \frac{1}{a})t^{-\lambda} - \frac{1}{a}(\frac{1}{t})$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$ and using Theorem 2.5, we obtain the following inequality

$$A^{\gamma} + (\ln_{\lambda} \frac{1}{a})A \sharp_{(-\lambda,\beta,\gamma)} B - (\frac{1}{a})A \sharp_{(-1,\beta,\gamma)} B \geqslant (a^{\lambda} - \ln_{\lambda} a)A^{\gamma} - a^{\lambda-1}A \sharp_{(-1,\beta,\gamma)} B. \tag{2.25}$$

Now according to inequalities (2.23), (2.24) and (2.25), we get the inequalities (2.16) and this completes the proof of (ii).

Corollary 2.21. ([8], Corollary 2.5) Let a > 0 and $\lambda \in (0,1]$. For any invertible positive operators A and B we have

(i) If $0 < a \le 1$, then

$$\begin{split} A - (\frac{1}{a})AB^{-1}A + (\ln_{\lambda} \frac{1}{a})A\sharp_{-\lambda}B &\leqslant (a^{\lambda} - \ln_{\lambda} a)A - a^{\lambda - 1}(AB^{-1}A) \\ &\leqslant T_{-\lambda}(A|B) \leqslant S(A|B) \leqslant T_{\lambda}(A|B) \\ &\leqslant (\ln_{\lambda} a - a^{\lambda})A + a^{\lambda - 1}B \\ &\leqslant \frac{1}{a}B - A - (\ln_{\lambda} \frac{1}{a})A\sharp_{\lambda}B. \end{split}$$

(ii) If $a \ge 1$, then

$$(a^{\lambda} - \ln_{\lambda} a)A - a^{\lambda - 1}AB^{-1}A \leqslant A - (\frac{1}{a})AB^{-1}A + (\ln_{\lambda} \frac{1}{a})A\sharp_{-\lambda}B$$
$$\leqslant T_{-\lambda}(A|B) \leqslant S(A|B) \leqslant T_{\lambda}(A|B)$$
$$\leqslant \frac{1}{a}B - A - (\ln_{\lambda} \frac{1}{a})A\sharp_{\lambda}B$$
$$\leqslant (\ln_{\lambda} a - a^{\lambda})A + a^{\lambda - 1}B.$$

Proof. By putting $\gamma = \beta = 1$ in Theorem 2.20, we get the result.

Remark 2.22.

- (i) Putting $\gamma = \beta = 1$ in (2.18), we get the inequalities shown in ([8], Proposition 2.3). Moreover, the inequalities (2.23) are a generalization of the inequalities obtained in ([8], Proposition 2.4).
- (ii) Theorem 2.20 give precise upper and lower bounds of Theorem 2.7 when $0 < a \le 1$ and $a \ge 1$.

Theorem 2.23.

$$(i) \ If \ \lambda \in [\frac{1}{2}, 1], \ \alpha \in [-1, 0) \cup (0, 1], \ \beta, \gamma > 0 \ and \ 0 < A^{\beta} \leqslant B, \ then$$

$$0 \leqslant T_{-1,\beta,\gamma}(A|B) \leqslant T_{-\lambda,\beta,\gamma}(A|B) \leqslant 2A^{\frac{\gamma}{2}} \left[I - A^{\frac{\gamma}{2}} \left(\frac{A\sharp_{(1,\beta,\gamma)}B + A^{\gamma}}{2} \right)^{-1} A^{\frac{\gamma}{2}} \right] A^{\frac{\gamma}{2}}$$

$$\leqslant \frac{2}{\alpha} A^{\frac{\gamma}{2}} \left[I - A^{\frac{\gamma}{2}} \left(\frac{A^{\gamma} + A\sharp_{(\alpha,\beta,\gamma)}B}{2} \right)^{-1} A^{\frac{\gamma}{2}} \right] A^{\frac{\gamma}{2}} \leqslant S_{0,\beta,\gamma}(A|B)$$

$$\leqslant \frac{A\sharp_{(\frac{\alpha}{2},\beta,\gamma)}B - A\sharp_{(-\frac{\alpha}{2},\beta,\gamma)}B}{\alpha} \leqslant A\sharp_{(\frac{1}{2},\beta,\gamma)}B - A^{\gamma} \left(A^{-1}\sharp_{(\frac{1}{2},\beta,\gamma)}B^{-1} \right) A^{\gamma} \leqslant T_{\lambda,\beta,\gamma}(A|B) \leqslant T_{1,\beta,\gamma}(A|B).$$

(ii) If
$$\lambda \in [\frac{1}{2}, 1]$$
, $\alpha \in [-1, 0) \cup (0, 1]$, $\beta, \gamma > 0$ and $0 < B \leq A^{\beta}$, then

$$\begin{split} T_{-1,\beta,\gamma}(A|B) &\leqslant T_{-\lambda,\beta,\gamma}(A|B) \leqslant A\sharp_{(\frac{1}{2},\beta,\gamma)}B - A^{\gamma}\left(A^{-1}\sharp_{(\frac{1}{2},\beta,\gamma)}B^{-1}\right)A^{\gamma} \leqslant \frac{A\sharp_{(\frac{\alpha}{2},\beta,\gamma)}B - A\sharp_{(-\frac{\alpha}{2},\beta,\gamma)}B}{\alpha} \\ &\leqslant S_{0,\beta,\gamma}(A|B) \leqslant \frac{2}{\alpha}A^{\frac{\gamma}{2}}\left[I - A^{\frac{\gamma}{2}}\left(\frac{A^{\gamma} + A\sharp_{(\alpha,\beta,\gamma)}B}{2}\right)^{-1}A^{\frac{\gamma}{2}}\right]A^{\frac{\gamma}{2}} \\ &\leqslant 2A^{\frac{\gamma}{2}}\left[I - A^{\frac{\gamma}{2}}\left(\frac{A\sharp_{(1,\beta,\gamma)}B + A^{\gamma}}{2}\right)^{-1}A^{\frac{\gamma}{2}}\right]A^{\frac{\gamma}{2}} \leqslant T_{\lambda,\beta,\gamma}(A|B) \leqslant T_{1,\beta,\gamma}(A|B) \leqslant 0. \end{split}$$

Proof. (*i*) According to ([8], Lemma 2.6), for $\lambda \in [\frac{1}{2}, 1]$, $\alpha \in [-1, 0) \cup (0, 1]$ and $t \ge 1$, we have

$$0 \leqslant 1 - \frac{1}{t} \leqslant \ln_{-\lambda} t \leqslant \frac{2(t-1)}{t+1} \leqslant \frac{2\ln_{\alpha} t}{t^{\alpha} + 1}$$

$$\leqslant \log t$$

$$\leqslant t^{-\frac{\alpha}{2}} \ln_{\alpha} t \leqslant \frac{t-1}{\sqrt{t}} \leqslant \ln_{\lambda} t \leqslant t-1.$$

$$(2.26)$$

Define $f_1(t) = 0$, $f_2(t) = 1 - \frac{1}{t}$, $f_3(t) = \ln_{-\lambda} t$, $f_4(t) = \frac{2(t-1)}{t+1}$, $f_5(t) = \frac{2\ln_{\alpha} t}{t^{\alpha}+1}$, $f_6(t) = \log t$, $f_7(t) = t^{-\frac{\alpha}{2}} \ln_{\alpha} t$, $f_8(t) = \frac{t-1}{\sqrt{t}}$, $f_9(t) = \ln_{\lambda} t$ and $f_{10}(t) = t-1$. Apply Corollary 2.6 with $g(t) = t^{\beta}$ and $h(t) = t^{\gamma}$ to conclude the following inequality

$$0 \leqslant A^{\gamma} - A \sharp_{(-1,\beta,\gamma)} B \leqslant T_{-\lambda,\beta,\gamma}(A|B) \leqslant 2A^{\frac{\gamma}{2}} \left[\frac{(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}} - 1)}{(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}} + 1)} \right] A^{\frac{\gamma}{2}}$$

$$\leqslant A^{\frac{\gamma}{2}} \left[\frac{2\ln_{\alpha}(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})}{(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{\alpha} + 1} \right] A^{\frac{\gamma}{2}} \leqslant S_{0,\beta,\gamma}(A|B)$$

$$\leqslant A^{\frac{\gamma}{2}} \left[(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{-\frac{\alpha}{2}} \ln_{\alpha}(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}}) \right] A^{\frac{\gamma}{2}}$$

$$\leqslant A^{\frac{\gamma}{2}} \left[(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{\frac{1}{2}} - (A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{-\frac{1}{2}} \right] A^{\frac{\gamma}{2}}$$

$$\leqslant T_{\lambda,\beta,\gamma}(A|B) \leqslant A \sharp_{(1,\beta,\gamma)} B - A^{\gamma}.$$

$$(2.27)$$

We notice that $t \ge 1$ implies $0 < A^{\beta} \le B$. By some mathematical calculation we get

(a)

$$\begin{split} \frac{A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}}-1}{A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}}+1} &= \frac{A^{\frac{\gamma}{2}}(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}}-1)A^{\frac{\gamma}{2}}}{A^{\frac{\gamma}{2}}(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}}+1)A^{\frac{\gamma}{2}}} = \frac{A\sharp_{(1,\beta,\gamma)}B-A^{\gamma}}{A\sharp_{(1,\beta,\gamma)}B+A^{\gamma}} \\ &= I - \left(\frac{2A^{\gamma}}{A\sharp_{(1,\beta,\gamma)}B+A^{\gamma}}\right) \\ &= I - A^{\frac{\gamma}{2}}\left(\frac{A\sharp_{(1,\beta,\gamma)}B+A^{\gamma}}{2}\right)^{-1}A^{\frac{\gamma}{2}}. \end{split}$$

(b)

$$\begin{split} A^{\frac{\gamma}{2}} \left[\frac{2 \ln_{\alpha} (A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}})}{(A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}})^{\alpha} + 1} \right] A^{\frac{\gamma}{2}} &= \frac{2}{\alpha} A^{\frac{\gamma}{2}} \left[\frac{(A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}})^{\alpha} - 1}{(A^{-\frac{\beta}{2}} B A^{-\frac{\beta}{2}})^{\alpha} + 1} \right] A^{\frac{\gamma}{2}} \\ &= \frac{2}{\alpha} A^{\frac{\gamma}{2}} \left[\frac{A \sharp_{(\alpha,\beta,\gamma)} B - A^{\gamma}}{A \sharp_{(\alpha,\beta,\gamma)} B + A^{\gamma}} \right] A^{\frac{\gamma}{2}} \\ &= \frac{2}{\alpha} A^{\frac{\gamma}{2}} \left[I - \frac{2A^{\gamma}}{A \sharp_{(\alpha,\beta,\gamma)} B + A^{\gamma}} \right] A^{\frac{\gamma}{2}} \\ &= \frac{2}{\alpha} A^{\frac{\gamma}{2}} \left[I - A^{\frac{\gamma}{2}} \left(\frac{A \sharp_{(\alpha,\beta,\gamma)} B + A^{\gamma}}{2} \right)^{-1} A^{\frac{\gamma}{2}} \right] A^{\frac{\gamma}{2}}. \end{split}$$

(c)

$$\begin{split} A^{\frac{\gamma}{2}} \left[(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{-\frac{\alpha}{2}} \ln_{\alpha} (A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}}) \right] A^{\frac{\gamma}{2}} &= A^{\frac{\gamma}{2}} \left[\frac{(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{\frac{\alpha}{2}} - (A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{-\frac{\alpha}{2}}}{\alpha} \right] A^{\frac{\gamma}{2}} \\ &= \frac{A^{\frac{\beta}{2}} (\frac{\alpha}{2},\beta,\gamma)B - A^{\frac{\beta}{2}} (-\frac{\alpha}{2},\beta,\gamma)B}{\alpha}. \end{split}$$

(d)

$$\begin{split} A^{\frac{\gamma}{2}} \left[(A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{\frac{1}{2}} - (A^{-\frac{\beta}{2}}BA^{-\frac{\beta}{2}})^{-\frac{1}{2}} \right] A^{\frac{\gamma}{2}} &= A \sharp_{(\frac{1}{2},\beta,\gamma)} B - A^{\frac{\gamma}{2}} \left[\left(A^{\frac{\beta}{2}}B^{-1}A^{\frac{\beta}{2}} \right)^{\frac{1}{2}} \right] A^{\frac{\gamma}{2}} \\ &= A \sharp_{(\frac{1}{2},\beta,\gamma)} B - A^{\gamma} \left[A^{-1} \sharp_{(\frac{1}{2},\beta,\gamma)} B^{-1} \right] A^{\gamma}. \end{split}$$

So according to inequalities (2.27) and the previous calculations, we obtain the inequalities of (i) and this completes the proof.

(*ii*) For
$$\lambda \in [\frac{1}{2}, 1]$$
, $\alpha \in [-1, 0) \cup (0, 1]$ and $0 < t \le 1$, we have ([8], Lemma 2.6)

$$1 - \frac{1}{t} \leqslant \ln_{-\lambda} t \leqslant \frac{t - 1}{\sqrt{t}} \leqslant t^{-\frac{\alpha}{2}} \ln_{\alpha} t$$

$$\leqslant \log t$$

$$\leqslant \frac{2 \ln_{\alpha} t}{t^{\alpha} + 1} \leqslant \frac{2(t - 1)}{t + 1} \leqslant \ln_{\lambda} t \leqslant t - 1 \leqslant 0.$$

$$(2.28)$$

The proof is completed similarly as in (i) according to Corollary 2.6. We notice that $0 < t \le 1$ is equivalent to $0 < B \le A^{\beta}$.

Corollary 2.24. ([8], Theorem 2.8)

(i) If
$$\lambda \in [\frac{1}{2}, 1]$$
, $\alpha \in [-1, 0) \cup (0, 1]$ and $0 < A \leq B$, then

$$\begin{split} 0 &\leqslant T_{-1}(A|B) \leqslant T_{-\lambda}(A|B) \leqslant 2A^{\frac{1}{2}} \left[I - A^{\frac{1}{2}} \left(\frac{A+B}{2} \right)^{-1} A^{\frac{1}{2}} \right] A^{\frac{1}{2}} \\ &\leqslant \frac{2}{\alpha} A^{\frac{1}{2}} \left[I - A^{\frac{1}{2}} \left(\frac{A+A\sharp_{\alpha}B}{2} \right)^{-1} A^{\frac{1}{2}} \right] A^{\frac{1}{2}} \leqslant S(A|B) \\ &\leqslant \frac{A\sharp_{\frac{\alpha}{2}}B - A\sharp_{-\frac{\alpha}{2}}B}{\alpha} \leqslant A\sharp_{\frac{1}{2}}B - A \left(A^{-1}\sharp_{\frac{1}{2}}B^{-1} \right) A \leqslant T_{\lambda}(A|B) \leqslant T_{1}(A|B). \end{split}$$

(ii) If
$$\lambda \in [\frac{1}{2}, 1]$$
, $\alpha \in [-1, 0) \cup (0, 1]$ and $0 < B \leq A$, then

$$\begin{split} T_{-1}(A|B) &\leqslant T_{-\lambda}(A|B) \leqslant A \sharp_{\frac{1}{2}} B - A \left(A^{-1} \sharp_{\frac{1}{2}} B^{-1} \right) A \leqslant \frac{A \sharp_{\frac{\alpha}{2}} B - A \sharp_{-\frac{\alpha}{2}} B}{\alpha} \\ &\leqslant S(A|B) \leqslant \frac{2}{\alpha} A^{\frac{1}{2}} \left[I - A^{\frac{1}{2}} \left(\frac{A + A \sharp_{\alpha} B}{2} \right)^{-1} A^{\frac{1}{2}} \right] A^{\frac{1}{2}} \\ &\leqslant 2A^{\frac{1}{2}} \left[I - A^{\frac{1}{2}} \left(\frac{A + B}{2} \right)^{-1} A^{\frac{1}{2}} \right] A^{\frac{1}{2}} \leqslant T_{\lambda}(A|B) \leqslant T_{1}(A|B) \leqslant 0. \end{split}$$

Proof. We note that Theorem 2.23 is a generalization of the above inequalities. Indeed, the result follows from Theorem 2.23 by putting $\gamma = \beta = 1$.

(i) If $\lambda \in (0,1]$, $\beta, \gamma > 0$ and $0 < A^{\beta} \leq B$, then

$$\begin{split} 0 \leqslant T_{-1,\beta,\gamma}(A|B) \leqslant T_{-\lambda,\beta,\gamma}(A|B) \leqslant \frac{2}{\lambda} A^{\frac{\gamma}{2}} \left[I - A^{\frac{\gamma}{2}} \left(\frac{A^{\gamma} + A \sharp_{(\lambda,\beta,\gamma)} B}{2} \right)^{-1} A^{\frac{\gamma}{2}} \right] A^{\frac{\gamma}{2}} \\ \leqslant S_{0,\beta,\gamma}(A|B) \leqslant \frac{A \sharp_{(\frac{\lambda}{2},\beta,\gamma)} B - A \sharp_{(-\frac{\lambda}{2},\beta,\gamma)} B}{\lambda} \\ \leqslant T_{\lambda,\beta,\gamma}(A|B) \leqslant T_{1,\beta,\gamma}(A|B). \end{split}$$

(ii) If $\lambda \in (0,1]$, $\beta, \gamma > 0$ and $0 < B \leq A^{\beta}$, then

$$\begin{split} T_{-1,\beta,\gamma}(A|B) \leqslant T_{-\lambda,\beta,\gamma}(A|B) \leqslant \frac{A\sharp_{(\frac{\lambda}{2},\beta,\gamma)}B - A\sharp_{(-\frac{\lambda}{2},\beta,\gamma)}B}{\lambda} \\ \leqslant S_{0,\beta,\gamma}(A|B) \leqslant \frac{2}{\lambda}A^{\frac{\gamma}{2}} \left[I - A^{\frac{\gamma}{2}} \left(\frac{A^{\gamma} + A\sharp_{(\lambda,\beta,\gamma)}B}{2} \right)^{-1} A^{\frac{\gamma}{2}} \right] A^{\frac{\gamma}{2}} \\ \leqslant T_{\lambda,\beta,\gamma}(A|B) \leqslant T_{1,\beta,\gamma}(A|B) \leqslant 0. \end{split}$$

Proof. According to the inequalities (2.26) and (2.28), we have

(i) If $\lambda \in (0,1]$ and $t \ge 1$, then

$$\ln_{-\lambda} t \leqslant \frac{2\ln_{\lambda} t}{t^{\lambda} + 1} \leqslant \log t \leqslant t^{-\frac{\lambda}{2}} \ln_{\lambda} t \leqslant \ln_{\lambda} t. \tag{2.29}$$

(ii) If $\lambda \in (0,1]$ and $0 < t \le 1$, then

$$\ln_{-\lambda} t \leqslant t^{-\frac{\lambda}{2}} \ln_{\lambda} t \leqslant \log t \leqslant \frac{2 \ln_{\lambda} t}{t^{\lambda} + 1} \leqslant \ln_{\lambda} t. \tag{2.30}$$

Now the proof of the Theorem can be completed by using Corollary 2.6, Theorem 2.23 and inequalities (2.29) and (2.30).

Corollary 2.26. ([8], Corollary 2.9)

(i) If $\lambda \in (0,1]$ and $0 < A \leq B$, then

$$0 \leqslant T_{-1}(A|B) \leqslant T_{-\lambda}(A|B) \leqslant \frac{2}{\lambda} A^{\frac{1}{2}} \left[I - A^{\frac{1}{2}} \left(\frac{A + A \sharp_{\lambda} B}{2} \right)^{-1} A^{\frac{1}{2}} \right] A^{\frac{1}{2}}$$
$$\leqslant S(A|B) \leqslant \frac{A \sharp_{\frac{\lambda}{2}} B - A \sharp_{-\frac{\lambda}{2}} B}{\lambda}$$
$$\leqslant T_{\lambda}(A|B) \leqslant T_{1}(A|B).$$

(ii) If $\lambda \in (0,1]$ and $0 < B \leq A$, then

$$\begin{split} T_{-1}(A|B) \leqslant T_{-\lambda}(A|B) \leqslant \frac{A\sharp_{\frac{\lambda}{2}}B - A\sharp_{-\frac{\lambda}{2}}B}{\lambda} \\ \leqslant S(A|B) \leqslant \frac{2}{\lambda}A^{\frac{1}{2}} \left[I - A^{\frac{1}{2}} \left(\frac{A + A\sharp_{\lambda}B}{2}\right)^{-1}A^{\frac{1}{2}}\right]A^{\frac{1}{2}} \\ \leqslant T_{\lambda}(A|B) \leqslant T_{1}(A|B) \leqslant 0. \end{split}$$

Proof. The desired inequalities is obtained by putting $\gamma = \beta = 1$ in Theorem 2.25.

Theorem 2.27. Let $a, \beta, \gamma > 0$ and $\lambda \in (0,1]$. For any invertible positive operators A and B we have

$$A\sharp_{(\lambda,\beta,\gamma)}B - \frac{1}{a}A\sharp_{(\lambda-1,\beta,\gamma)}B + (\ln_{\lambda}\frac{1}{a})A^{\gamma} \leqslant S_{\lambda,\beta,\gamma}(A|B)$$

$$\leqslant \frac{1}{a}A\sharp_{(\lambda+1,\beta,\gamma)}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{(2\lambda,\beta,\gamma)}B - A\sharp_{(\lambda,\beta,\gamma)}B.$$

Proof. We have the following inequality for t > 0 (see [14])

$$t^{\lambda} - \frac{1}{a}t^{\lambda - 1} + \ln_{\lambda} \frac{1}{a} \leqslant t^{\lambda} \log t \leqslant t^{\lambda} \left(\frac{1}{a}t - (\ln_{\lambda} \frac{1}{a})t^{\lambda} - 1 \right).$$

Applying Theorem 2.5 for $r(t) = t^{\lambda} - \frac{1}{a}t^{\lambda-1} + \ln_{\lambda} \frac{1}{a}$, $q(t) = t^{\lambda} \log t$, $k(t) = t^{\lambda} \left(\frac{1}{a}t - (\ln_{\lambda} \frac{1}{a})t^{\lambda} - 1 \right)$, $g(t) = t^{\beta}$, $h(t) = t^{\gamma}$, we obtain the desired result.

Corollary 2.28. ([14], Corollary 3.4) Let $a, \beta > 0$ and $\lambda \in (0,1]$. For any invertible positive operators A and B we have

$$\begin{split} A\sharp_{(\lambda,\beta)}B - \frac{1}{a}A\sharp_{(\lambda-1,\beta)}B + (\ln_{\lambda}\frac{1}{a})A^{\beta} &\leqslant S_{\lambda,\beta}(A|B) \\ &\leqslant \frac{1}{a}A\sharp_{(\lambda+1,\beta)}B - (\ln_{\lambda}\frac{1}{a})A\sharp_{(2\lambda,\beta)}B - A\sharp_{(\lambda,\beta)}B. \end{split}$$

Proof. It follows from Theorem 2.27 by replacing γ with β .

Conflict of Interests

The authors declare that there is no conflict of interests.

REFERENCES

- [1] A. Ebadia, I. Nikoufar, M. Eshaghi Gordji, Perspective of matrix convex functions, Proc. Natl. Acad. Sci. USA. 108 (2011), 7313-7314.
- [2] E. G. Effros, A matrix convexity approach to some celebrated quantum inequalities, Proc. Natl. Acad. Sci. USA. 106 (2009), 1006-1008.
- [3] J.I. Fujii, E. Kamei, Relative operator entropy in noncommutative information theory, Math. Jpn. 34 (1989), 341-348.
- [4] J. I. Fujii, E. Kamei, Uhlmann's interpolational method for operator means, Math. Jpon. 34 (1989), 541-547.
- [5] S. Furuichi, K.Yanagi, K.Kuriyama, A note on operator inequalities of Tsallis relative operator entropy, Linear Algebra Appl. 407 (2005), 19-31.
- [6] S. Furuichi, K. Yanagi, K. Kuriyama, Fundamental properties of Tsallis relative entropy, J. Math. Phys. 45 (2004), 4868-4877.
- [7] S. Furuichi, Inequalities for Tsallis relative entropy and generalized skew information, Linear Multilinear Algebra. 59 (2011), 1143-1158.
- [8] S. Furuichi, Precise estimates of bounds on relative operator entropies, Math. Ineq. Appl. 18 (2015), 869–877.
- [9] T. Furuta, Furuta's inequality and its application to the relative operator entropy, J. Operator Theory. 30 (1993), 21-30.
- [10] T. Furuta, Invitation to Linear Operators, Taylor and Francis, London and New York, (2001).
- [11] T. Furuta, Parametric extensions of Shannon inequality and its reverse one in Hilbert space operators, Linear Algebra Appl. 381 (2004), 219-235.
- [12] F. Kubo, T. Ando, Means of positive linear operators, Math. Ann. 246 (1979-1980), 205-224.
- [13] M. Nakamura, H. Umegaki, A note on the entropy for operator algebras, Proc. Japan Acad. 37 (1967), 149-154.
- [14] I. Nikoufar, On operator inequalities of some relative operator entropies, Adv. Math. 259 (2014), 376-383.
- [15] I. Nikoufar, A. Ebadian, M. EshagiGordji, The simplest proof of Lieb concavity theorem, Adv. Math. 248 (2013), 531-533.
- [16] H. Umegaki, Conditional expectation in operator algebra IV (entropy and information), Kodai Math. Sem. Rep. 14 (1962), 59-85.
- [17] K.Yanagi, K.Kuriyama, S.Furuichi, Generalized Shannon inequalities based on Tsallis relative operator entropy, Linear Algebra Appl. 394 (2005), 109-118.
- [18] L. Zou, Operator inequalities associated with Tsallis relative operator entropy, Math. Ineq. Appl. 18 (2015), 401-406.